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NAME:_____________________________

1. Quinn’s test scores are 95, 90, and 83. What
must he score on his next test to have an
average test score of 90 on the four tests?

[1]

2. Desiree’s test scores are 77, 90, 66, and 82.
What score does she need on the last test in
order to average 80 on her tests?

[2]

3. Lawanda’s test scores are 85, 97, 76, and 93.
What score does she need on the last test in
order to average 90 on her tests?

[3]

4. Alicia’s test scores are 77, 86, 66, and 80.
What score does she need on the last test in
order to average 80 on her tests?

[4]

5. Lakita’s test scores are 87, 96, 81, and 89.
What score does she need on the last test in
order to average 90 on her tests?

[5]

6. Aisha’s test scores are 74, 86, 67, and 76.
What score does she need on the last test in
order to average 80 on her tests?

[6]

7. Which pair of numbers, when included with
the set of data, will raise the value of BOTH
the mean and median?
6, 8, 10, 14, 18

[7]

[A] 14, 15 [B] 1, 10

[C] 8, 14 [D] 7, 15

8. Use a calculator to show how changing one or
two numbers in the set of data below can
affect the mean.
145    167    198    200    250

[8]

9. Use the problem solving strategy Guess and
Test to find one data item to add to the data
set 9, 12, 12, 14 so that the new set has a
mean, median, and mode of 12.

[9]

10. The Spanish test scores of the students in
room 312 are listed.
93  92  70  85  60  90  100  90  82  78  45  75
95  80  75  78  100  98  86
Jay was absent and took a makeup test. What
do we know about Jay’s score on his makeup
test, if the median score on the test was 83.5?
Explain.

[10]
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[1] 92

[2] 85

[3] 99

[4] 91

[5] 97

[6] 97

[7] A

[8]

Answers may vary. Sample: If the number is
changed to be greater than the original
number, the mean will be larger. If the
number is changed to be smaller than the
original number, the mean will be smaller.

[9] 13

[10]

Jay’s score cannot be higher than 82. It must
be 82 or lower. There are 20 scores, including
Jay’s score. If Jay’s score is higher than 86,
the median score would be 85.5. If his score
is between 85 and 86, the median would be
the average of his score and 85, and this
would not equal 83.5. If his score is 85, then
the median score is 85. If his score is between
82 and 85, the median score would be larger
than 83.5.


